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Starter
· If you ran a factory and the maximum “Nibnobs” you could make in a day was 200, would you make:
· A) 200 Nibnobs a day
· B) 185 Nibnobs a day
· C) 210 Nibnobs a day
Explain your answer

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Write a definition of capacity utilisation here:
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________



[image: ]Capacity utilisation explained 
· In any business there are decisions to be made about how best to ____________________________ resources

· An operations manager will need to make daily decisions about how best to turn inputs such as ________________________, labour and _________________________ into outputs


· Capacity utilisation is how best to use those _______________________ for the benefit of the business
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Capacity utilisation explained continued
· If a business cannot increase its ______________________, it is at full capacity

· For example, a 295 seat plane if it is full then it is ______________________ at full capacity

· If the plane is half full then it is running at 50% __________________________

· One way to improve capacity is to reduce the cost of less popular ______________________ times “off-peak” travel
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Capacity utilisation explained continued
· Capacity utilisation is important as it has a bearing on ______________________ cost per unit and therefore EOS (Economies of scale)

· In high capacity utilisation the _____________________ costs are spread over more units of production

· In low capacity utilisation the fixed costs can be ______________ high to stay in business or keep ________________________ that product


[image: ]Ways to improve capacity utilisation
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
[image: ]More ways to improve capacity utilisation


__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________


[image: ]Improving capacity utilisation
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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Name 5 ways that this train company can improve their capacity utilisation
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[image: Image result for half empty airline]
Name 5 actions this airline should take to reduce this cost
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[image: Image result for half empty cinema]

Name 5 ways this cinema company could spread their fixed costs
	1
	


	2
	

	3
	

	4
	

	5
	




[image: ]
Name 5 ways this restaurant could make better use of their resources
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Write the capacity utilisation formula here:









Example calculation:
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[image: ]Why would running at 80% be OK? 
[image: Old Trafford inside 20060726 1.jpg]________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Capacity
[image: ]________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Implications of under-utilisation
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
[image: ]Implications of over-utilisation
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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Extract F

Production data for soft drinks manufacturers A and B

Current output Maximum output
(units) (units)
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Using the data in Extract F, explain one implication of the level of capacity
utilisation for the soft drinks manufacturer A, compared to B. You are advised to
show your working.
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iasyJot overbooking thousands of peak-sca
flights — and flouting EU rules on offloaded
passengers
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Evidence C  Low Cost but ata price...

Ryanair' cost per passenger is the lowest in Europe by some margin, with main rival
easyJet being 67% higher than that of Ryanair. Ryanair uses smaller, lower cost airports
with faster turnaround times of only 25 minutes, which allows the airline to maximise
aircraft utilisation. It also benefits from high seat density (189 seats per aircraft, compared
with 156 seats for easyJet) with an aircraft capacity utilisation of 82%.

Ryanair has a younger fleet of aircraft giving them advantages of fuel efficiency and lower
maintenance costs. In addition, Ryanair’s labour force is more productive and flexible: 50%
of flight crew are contracted and employed only when required.

There is a downside to cutting costs and Ryanair is frequently featured in surveys as
having one of the weakest brands in European aviation. Ryanair s seen as mean, uncaring
and money-grabbing, and social media sites are used to reinforce this image as well as
complain about poor customer service. Despite this, passenger numbers are set to rise by
4-5% per annum with 98% of all tickets booked online.
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Analyse how Ryanair could increase its aircraft capacity utilisation.
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